n = P Image Archetypes (titles link to similar images with larger n, DL is Drawn Lines in red on image shown)
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Oval Stars (4 DL)
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Finger Traps (4 DL)
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Braided Internal Loop (7 DL)
(n, s, P,J) 4g 49 5080 1, 27 lines/cycle
(50,27.50,19) 47 5, 27 lines
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Crossed Finger Traps (2 DL)
(n, S, P,J) 43 4480 1 10 lines/cycle
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Quivering Polygons (3 DL)
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Twisted Divisible Stars (3 DL)
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Puffy Stars with Open Polygons (3 DL)
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The images below are a small sampling of the wide variety one can find with larger n = P models using the web version.

Endpoints for the first image below stays on “their own” football so that the horizontal ball has odd endpoints, and the vertical has even. By contrast, the middle
image uses endpoints across footballs. Using the Single Line Overlaid Drawing mode, you can see that the 100" line starts the fill-in of the remaining half of the
endpoints (100 to 198) that were not filled in the “first time around” (such as between the top starting point and endpoint 4 just past the top to the right in the
image). The third image is surprising as it shows thin curves with lots of “open” space in an otherwise intricate triangular looping flower pattern.

Two footballs with 2-internal 4-point + (164 lines,

) Three intertwined footballs (198 lines, )

3-strand, 7-loops of coiled rope (254 lines, )



https://www.playingwithpolygons.com/?vertex=248&subdivisions=165&points=248&jumps=83
https://www.playingwithpolygons.com/?vertex=248&subdivisions=193&points=248&jumps=83
https://www.playingwithpolygons.com/?vertex=248&subdivisions=249&points=248&jumps=83
https://www.playingwithpolygons.com/?vertex=248&subdivisions=110&points=248&jumps=83
https://www.playingwithpolygons.com/?vertex=499&subdivisions=254&points=499&jumps=227
https://www.playingwithpolygons.com/?vertex=248&subdivisions=250&points=248&jumps=83
https://www.playingwithpolygons.com/?vertex=248&subdivisions=200&points=248&jumps=100
https://www.playingwithpolygons.com/?vertex=221&subdivisions=211&points=221&jumps=108
https://www.playingwithpolygons.com/?vertex=248&subdivisions=290&points=248&jumps=83
https://www.playingwithpolygons.com/?vertex=248&subdivisions=164&points=248&jumps=83
https://www.playingwithpolygons.com/?vertex=249&subdivisions=198&points=249&jumps=100
https://www.playingwithpolygons.com/?vertex=499&subdivisions=254&points=499&jumps=233

